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Choose the right statement which describes ALL the horizontal and vertical asymptotes

of the function |
f(z) = e+l
| e -1

A. Horizontal Asymptote(s): y = 1, y = —1, Vertical Asymptote(s): None

B. Horizontal Asymptote(s): y = 1, Vertical Asymptote(s): x = 1

C. Horizontal Asymptote(s): y = 1, Vertical Asymptote(s): x =0
@Horizorltad Asymptote(s): y = 1, y = —1, Vertical Asymptote(s): = =0

E. Horizontal Asymptote(s): None, Vertical Asymptote(s): z =0
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. For what value(s) of ¢ is
flx) =

continuous from the lch at 2.
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2. Let f(z) = - Which of the following equals f'(4) ?
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Suppose f(1) =4 and f(1)=3. If

then ¢'(1) equals
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The slope of the line tangent to the curve described by the implicit function y*z+#%2* = 6
at (2,1) is
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